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1. (20%) Find the transfer function T(s) = Y(s)/R(s) of the following system.
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2. (20%) Find the K value in the following system that will place the closed-loop poles as

shown.
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3. (20%) Sketch the root locus for the unity feedback system with G(s) =
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4. (20%) For the unity feedback system, specify the gain K of the proportional controller so
that the output y(t) has an overshoot of no more than 10% in response to a unit step.
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5. (20%) Sketch the asymptotes of the Bode plot magnitude and phase for a unity feedback

system with G(s) = (s +20) .
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